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True or False Statements (SAB p. 419)

Questions 1-2 Name Date
I. A. True True or False Statements
B. False 1. Is it true or false? Circle true or false for each problem.
C Tl'ue A.20+10+10+2=10+10+10+ 10 + 2
) True False
D. True B.10+10+10+4=10+10+5+4
E. False True False
2 A 5 C.20+20+1=10+10+10+ 10 + 1
True False
B. 20

D.5+5+5+5+2=10+10+2
C_ 10 True False

E.20+10+5+5+3=10+10+10+5+3

True False
2. Place a number in the box to make the number sentence true.

A.20+10+10+10+10+3:20+20+10+|:|+5+3
B.10+10+10+10+2:20+|:|+2

C.5+5+5+5+5=10+|:|+5

Copyright © Kendall Hunt Publishing Company

Compute with Mass. SAB - Grade 2+ Unit8-Lessons 419

Student Activity Book - Page 419

Mara’s Lunch (SAB pp. 427-428)
Questions 1-7 Name Date

- . . 1. Mara found the mass of the small apple but had no 10-gram
I . Answers Wlll vary. POSSlble response: three masses. Which gram masses could she have used? Draw or

20-gram masses and two 5-gram masses. record them in the table.
20g | 10g | 59 | 1g

Number sentence:

20 + 20 + 20 + 5 + 5 = 70 grams 0
2. Mara’s lunch is heavier. Possible response: I Write a number sentence to show which gram masses she
added 70 g + 90 g + 45 g = 205 g for Mara’s “Se‘:‘og
funch and 205 s =200 & small apple Number sentence

3. A cookie < sandwich 2. Johnny’s lunch has a mass of 200 grams. Whose lunch is
heavier, Mara’s or Johnny’s? Show or tell how you know.

B. sandwich > small apple
C. small apple > cookie

3. Compare the items in Mara’s lunch. Fill in the circle with
< or > to make the statement true.

A. cookie{ sandwich
> greater than | O
B. sandwich{  small apple < less than <
S = equal to
o~
o

C. small apple P cookie
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Name Date

4. Circle True or False for each statement.
A.20+20+2=20+10+5+2 True False
B.20+4=10+10+4 True False
C.10+10+5+5=20+10+5 True False

5. Mara ate some of her sandwich. When she placed the
leftover part of her sandwich on the two-pan balance, it had
a mass of 40 grams. How much did she eat? Show or tell
how you know.

Number sentence

6. How many more grams is the small apple than the cookie?
Show or tell how you know.

Number sentence

7. Miguel’s cookie is 17 grams more than Mara’s cookie. What
is the mass of Miguel’s cookie? Show or tell how you know.

Number sentence
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4.

A. False
B. True

C. False

50 grams; Possible strategy: I used the number
line. I started at 90 and counted back 4 tens. |
landed at 50.

Number sentence 70 g —40g =30g

25 grams; Possible strategy: I started at 45 and
counted up by fives until I reached 70: 5, 10,
15, 20, 25.

Number sentence 45 g > =70g

62 grams; Possible strategy: [ used the
compact method.
45 grams
+ 17 grams
62 grams

Number sentence 45 g+ 17g=62g¢g
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